Steps to Success

Date. 13.1.20
Subject/s Maths
Leamming Objective
@0’% To add and subtract decimals.
ng TA
Success Criteria I can identify the place value of numhbers |
_ /! I can line up the place value columns.
I can use my knowledge of column addition and subtraction
Support Independent Adult Support ( ) Group Work
| Pre-task
1) 8.951 - 3.26

2) 16.71 + 182.7

:Teacherledz Fluency:
 What addituon [ sbbraction | motheds kould]
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If yow are feeling confident with adding and subtracting decimals, hma,gcabthi&fhw:npg:

Copy and complete.
© 981 @ 3785
+3.942 + 4.35
© 1% @ 823
+ 745 +26:73
© 6493 © 4768
+2:574 +3.999
5:257 ° 9.645
+ 3.956 +6.076
o 28.87 @ 6-569
+14.67 +1.472
Copy and complete.
29-35 8.251
-16:72 ~5434
7-573 4.718
—3.748 0 ~ 1657
92.82 6-464
-19.36 ~5.372
5.066 1.923
~3.954 - 0-831
3417 4.055
- 2797 - 3.396




If yow need more help, complete this fluency:
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Ve it calculation? |
oY 31 30 |
- ¥ 37 |
29,.83 |

Pavel s trying 1o find the snswer 1o “

Laplasn i1 ‘
4144 +14 1
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Can you spot and explan s error? i
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?\)\th;\\j R ANSWENTS
D 13.523
2) 2 1.4kl
3 9.0p 7
u  9.21 3
5 43.54
b) 4 2.2
7 Lo 9.1 2
® %.167
A9 1 5721
o) 2.0k
) 1 2.62
2) 2.825
32 73.46b
4 .12
5 b.2
6) 2.%1 7
N 3.06 |
g 1.092 | | | | | |
9 1.09 2 Problem Solving and Reasoning Answers.
0)_ Og b 56‘ I Eaphetn &9 S e Incorect
' You use a
s i change
underneath ‘m
4.9
-3 .85
2 1.15
Do you agree with Rea?
Explain your answer
Can you find the missing nurmbers in the 31.00 -
e calculation? 1.37

Pavel 13 trywg 10 fd the arawer 1o Pavel has not put the digits
i in the correct place value
4144 +14 columns and has not lined
Hase s N6 warling ot the decimal points up

Can you spot and explan ha error?




